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I 'R mwn: list of 7 mpn in mwai »1>7 (6 — time, 1- location)
a  Source (for 7): vv. 1-3, with 2v°n as “ngm” word > sets of w11 to combine them
i Note: to apply to 97w, we have to position it as “lighter” than n%pv (inferred via y'p)
ii  But: to w™, for whom it is 710 — difficult
1 Answer: 7270 1121 AR Nan adds 4 more — 3 for N9 and 1 for narw
2 And: 1119, adds 8" npn — which Y2y was it (or what minute of the hour, if we expect such observation)
b Dissent: »ov "1 has 2 of time (proximate), 1 of location, 1 of identification, 1 of n®nn and, if 1y, two about the crime
i ap73x 0 M pointed out that crimes are usually attested within a few days — no need for asking about the year
1 Response: even if he testifies that it happened now, we all agree to ask what week?
2 Retort (»79): within a few days is a common lag time — not a year or more
ii  Identification: Rn» 1 — they are asked if they recognized him, did he kill a 587w’ or »123, did they warn him, did he
accept the warning and did he accept the consequences of the death penalty and did he kill immediately
1 In case of r’y: what god did he worship and how did he worship (bowing, slaughtering etc.)
iii  Sources (for nnInn):
1 RYWY-v. 4 (dealing with n13 = mpon)
2 pmoaT RIn - v. 5 — must still be “seething” (1'1n)
3 127-v. 6 - he was still gathering sticks
4 171°37-v.7 -7 % (implying speech)
(a) Note: in this sequence, all but the last are needed (except for w™, who needs the last for payw3)
(b) But: had we only had p%puy, all would’ve been inferred via 1”p — nonetheless, Ypa ®'nRT 8RNYN...
iv  Source (for mnb 1y 1nin— did he accept the consequence of the death penalty?):
1 v8: nnn nnv implies that he is only killed if he was pre-defined as a nn
(@) pn 7 nomRNN NI 1Y cannot be killed — they can claim that they testified to ban her to her husband
(i) Challenge: if we require nXInn, they cannot make such a claim
(ii) Answer: they didn’t warn
1. If so: she could never be killed either
2. Answer: case is a learned girl (n77an nwR), as per N7’ 92 'OV "), who only requires nRINN for some-
one who is otherwise ignorant of the law
a. However: if they can’t be killed, neither can she; their my1y is nn>rnY% %120 R”RW MTY - invalid
b.  Indeed: 130 " ruled that since they can’t be killed, neither can she?
c.  Question: how could an n7'an nwR ever be executed for this?
i.  Answer: if they attested to two different acts or nxa with someone who is her a11p
(iii) Note: n1is the example - even though she wasn’t yet married, they can claim 11 n%pa 5 n0IRY
II  ’a mwn: the more Mmpr13, the better
a  Example: »xor 12 asked the n>1y about the stems of the figs
i Related ruling: R1on "1 — if there is a discrepancy about the weapon used — inconsistent
1 But:if there is an inconsistency about the color of clothes worn by killer — acceptable difference
2 Challenge: ruling where discrepancy in color of clothes was considered a significant inconsistency
(a) Defense: case where he murdered him with his turban (what color was it?)
3 Challenge: ruling where discrepancy about color of shoes was considered significant
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(a) Defense: case where he kicked him and that led to his death
4 Challenge: »831 12's question about the fig-stems
(a) Answerl (n”27): where he was naw %9nn, by picking figs
(i) Rejection: 71 gives examples where he killed someone under a fig tree (821 12’s question)
(b) Answerla (r727): he skewered him with a fig branch
(i) Rejection: 8ot 12’s questions were about the color of the figs, the width of the stems etc.
(c) Rather:>®o1 12 is not a challenge, he considered mp>7a:m7pn (but we don’t)
ii ~ Note: 31 12 here not 1”27, as P17Mv was no longer executing in his day as ®w1 (and he wouldn’t be called "x>or 12”)
1 Challenge: alternate version reports this as 1”2
(a) Rather: he suggested it as a student (before 117010 moved out of n>1n nNHw5 in 30 CE) and they accepted
his suggestion and credited him — n1wn uses his name at the time, Xn11 uses his more proper name
b Difference btwn. mjp»721 myprm. if one of the 0*1Y can’t answer a n9°pn, whole testimony is invalid (invulnerable to nnrn)
i But:if one — or even both — can’t answer a np>73, testimony isn’t necessary invalidated
1 Challenge to “even both”: if one’s saying yTv >R doesn’t invalidate, certainly if both say that — should be good
(a) Answerl (nww "9): refers to Rw™ (Mpn); even if 2 know and a 3™ says Y71 1R —invalid, as per "
(i) »”r rules (X"a mon) that all 071y are together for nnn and all must be vulnerable to nnrn
(if) Challenge (¥37): word used is nn»p, not n%*03, rather
(b) Answer2 (527): even in mpn, if two say y7 and a 3" doesn’t know — valid, contra y™
ii ~ However: if they contradict each other, certainly invalidated
1 Explanation of difference (8790 711 83722 “1to 11727): in mpn, if they don’t know, it is an invulnerable testimony -
mTy v 1Y 931 R”RW M1TY; which is not the case in mp»7a
II ’» nwn: range of discrepancies
a  If: one 1y says it was on the 274 of the month and the other says it was the 3™ — valid; as one is familiar with the T2y
w1nn and the other isn’t
i But:if one says the 3 and the other says that it happened on the 5" — invalid
ii  Note: the limit is until mid-month; after that point, people should know wTnin T12'y; proved from Ra°0, since no one
would be unaware of 2 P12y, as by that time everyone knows when n" was
1 Rejection of proof: possible that people don’t know through entire month, but no one misses 2 n"37 my’pn
iii ~Tangent: n12% v17Tp N1 (including the now and requirement to stand — vv. 9-10
1 Tangential 7728 interpretation of vv. 11-12
b If one 7y says that it took place at 2 hours (of the day), and the other says 3 — valid; 3/5 invalid
i Dissent: nmyv " validates 3/5
ii  All agree: if one says 5 hours and the other — 7 — invalid, as the sun is no longer in the east
1  Note: if their discrepancy, even slight, was before/after nnnn yin —invalid
(a) Challenge: this is obvious
(b) Rather: if one said before yin and the other — during yan — invalid
(i) Even though: we could argue that the “before” 7y saw glimmers of the coming sunrise — 5"np
IV 3 mwn: continuation of process
a  Then: they bring in the 2nd 7y; if their words jibe, they begin by arguing mat?; if one of the 7y suggests and argument
for ma1 — or one of the 011N (3 rows) suggests an argument for n2n — we don’t allow them to speak
i But:if one of the n*1nYn suggests an argument for M1, we bring him up and he remains there all day; if his ar-
gument is sound, we attend to it — even if the defendant suggests an argument we listen — if it has substance
1 Note: if the student’s argument is baseless, he’s still kept there all day; if it is substantial, he remains forever
V  ’n mwn: conclusion: if they find m>at and acquit — he is freed; if not, they recess until the morning, and they pair up and de-
liberate all night, they would minimize eating and drink no wine all day (as per v. 13) and the next morning, everyone
would announce if they maintained their positions or had switched (and give the reason) - but someone who argued m>s1%
may not switch nany; if he errs, the court reporters remind him; if they end up acquitting him, he goes free, if not, they tal-
ly the votes. If a majority acquits — he goes free; if 12 convict, or even 11-11 (or even 22-0) and one says “y7v 2R”, they add
pairs of o7 until they get to 71; if the vote is 36-35 for acquittal, he goes free; if 36-35 for conviction, they continuing de-
bating until one of the convicters changes his mind to acquit; if there is no change, he goes free
a  Note:»ov " dissents from the entire system of ©71>70 19'0y and acquits immediately.
b xp71x in n™, 11 announces 110 1P, but not in 1*1; Meaning: judgment is challenging and we need more time
i Challenge: should be opposite application” elder announces it to proclaim his own shame that they’re stuck
ii  owN "z don’t flip - means “non 17” — elder announces, in spite of v. 14: %7 has job of proclaiming announcements
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